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Make it reasoning.... 

True or false? 1/3 of the animals are human. 
Always, sometimes, never The diagonals of a quadrilateral 
bisect each other (like the lantern). 
 

 

 

 

                  The weight of the frankincense  
   is halfway between the weight of the myrrh     
   and the weight of the gold.  
                   How much does it weigh?   
 
 
 

 
 

 

 

 
 

 

If I can see 10 legs, how many 
could be human and how many 
could belong to an animal? How 
many different combinations of 
humans and other animals can 
you identify that could be the 
owners of the legs? 

 

Gold 2.5kg 

Myrrh 500g 
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